Parts List .«..x:

Epap Uk

Model: BK235RS IN—Y1) Aba—F 524856
BK235RSL



HaTRODITERIZDINT

1.

o> 0 & 0N

D TEXDIEIE

wiEs (BX) - BARES - BBHREW - MEZTHEZEL,

INTEATIAS (X RI R D g TR E ZS RS,

MamlEwend THILMIESGR ] Z23HERATIZEL,
AHRRITEBRLIEZLDEHYFET .
ABRREIBBEDAFELEERTLIENAHYET,

Fig. DFRRIZTDNT

ASAM—=UIZ Fig. XXSRBERRLTHYET . COXXKIFAFTAM—D
ELORHELESERLFET .

=P s
BK235RS

L N v 1~2
BK235RSL

200 U . 3~4
BK235RS/BK235RSL(CE230/121)

3. IUDY (U —R, DUDE . AAI) 5~ 8
4. T (JAAILRBTE) eeenesessneeesessssesssssessssssene 9~ 10
5. IOV (F¥ILA, IT7V)—F. BHEIVYD) .. 11~ 12

(IR =11 TR s SoS S SS 13 ~ 14






1. BK235RS
Z NI



A:BK235RS, B:BK235RSL

*
RHES (HaEs 2B A‘MB i mx
1-1 364816 | BK235RS 1
1-2 226546 | TUNVY 1
1-3 232565 | h'4hUvbs 1
1-4 215532 | Hhv44=%") 1
1-5 054691 | WhT9 9347 1 6 74914
1-6 089738 | 6 hHik Lk 1 M5X15
1-7 215418 | nUN MY HTI 9347 1 8 79
1-8 092561 | 6 h%F Wb (+)SW 6 M5X25
1-9 225835 | ¥ ¥h—-RH34T 1 10 ~ 15 744
1-10 225897 | 6 hHK Lk (HW 1 M6X8
1-11 092550 | 6 h%F Wb (+)SW 1 M5X25-7T
1-12 225891 | NE/R R A 1
1-13 225892 | NEJK'A B 1
1-14 225893 | #INRY W RYEFYE 1 M8 t4')
1-15 225896 | 6 hHif Ik (+) 1 M5X10
1-16 220549 | F194v-) 1
1-17 241864 | 2—L7L—F 1 BK235RS
1-18 235791 | nUNIL A ThA 1
1-19 235792 | nUNIL B YR A 1
1-20 236346 | MJALN 9347 (16) 1 860L
1-21 236111 | A0 1 17 - 7439
1-22 235741 | AAYMLI4Y 1 810L 1/0 80.0
1-23 220533 | hahrNUN 94T 1
1-24 222821 | Y ATAVAN=)34T 1 25 791\
1-25 092561 | 6 hHif Lk (+)SW 2 M5X25
1-26 224624 | F977)-9 1
1-27 231654 | nNJv—% 1 ECO
1-28 234549 | AV —MF21-7 1 660L




2. BK235RSL
Z NI




A:BK235RS, B:BK235RSL

*
RHES (HaEs 2B A‘MB i mx
2-1 364817 | BK235RSL 1
2-2 226546 | TUNTVY 1
2-3 232565 | h'AhUTkA 1
2-4 211736 | kv434=%") B 1
2-5 211737 | N'UN 2
2-6 054691 | YUhT5 9347 1 7794
2-7 089738 | 6 hHik Lk 1 M5X15
2-8 235783 | MJALIN =934T (24) 1
2-9 236251 | AAYMLTAY 1 365L1/0 79
2-10 213548 | AL —+F1-7" 1 3t" 10 200L
-11 225835 | ¥ ¥h—-R934T 1 12 ~ 17 794
-12 225897 | 6 hHF Wb (HW 1 M6X8
2-13 092550 | 6 AZHK b (+)SW 1 M5X25-7T
2-14 225891 | NE/RAA 1
2-15 225892 | NE/K'AB 1
2-16 225893 | #INAYH RVEFYE 1 M8 t41)
2-17 225896 | 6 hYf Wb (+) 1 M5X10
2-18 220549 | F19473-4 1
2-19 241869 | 2—L7L—F 1 BK235RSL
2-20 231654 | N)v—9 1 ECO
2-21 214224 | L=7"nUNWH34T 1 22 ~ 24 791
2-22 213171 | nUMIMIYFT L 1
2-23 222142 | $A32Y (FW 4 M5X28
2-24 081027 | 6 hoFYh 4 M5
2-25 220533 | hahhr NN 9347 1
2-26 222821 | Y AVFVAN =934T 1 27 794
2-27 092561 | 6 h%& ILh (+)SW 2 M5X25
2-28 224624 | ¥97°)-9 1
2-29 236111 | A" 1 19 - 74349




3. BK235RS, BK235RSL TPy
DS —R, DYUE . aAdI)L

ARB|AZE|AzE

3 h
| N |
A |20 e,




A:BK235RS, B:BK235RSL

*

RHES (HaEs 2B A‘MB i mx
3-1 875319 | 1VY'Y 1 1 CE230/121
3-2 288499 | YYu43u77)—b 1 1
3-3 286074 | " AU 1 1
3-4 261250 | 6 h97+HY%H Wb WSW 4 4 M5X20
3-5 265802 | 1vv1l—4 1 1
3-6 267049 | h'ArYb 1 1
3-7 265924 | 241 2 2 M5X25
3-8 287642 | ¥777tU7) 1 1
3-9 287645 | h"Ahvb 1 1
3-10 266607 | 241 2 2 M5X45
3-11 289913 | b7 — 1 1
3-12 269828 | FAIRY (MW 1 1 M5X16W
3-13 269827 | +A1%Y (+)WSW 1 1 M5X16
3-14 289246 | 3094 —-2 1 1
3-15 280488 | ATYUY 2 2 PPL 6001
3-16 261492 | A LY—N 1 1 ISCD12287
3-17 261386 | #4ILY—I 1 1 ISCD12227
3-18 055185 | C H"4hAT 1 1 H28
3-19 261612 | 6 W97 FYFKILE WSW 3 3 M5X30
3-20 283379 | E'AbY 1 1
3-21 282177 | EAMNUY 2 2
3-22 261036 | E'AMUEY 1 1
3-23 263957 | =—FMAATYUY 1 1
3-24 261576 | ¥=997° 2 2
3-25 246382 | Y799 7ba077) -k 1 1
3-26 284786 | H39FT 77 1 1 27 ~ 29 794
3-27 284702 | H79FHK A 1 1
3-28 284787 | H739YFv1 2 2
3-29 286554 | 27Uy 2 2
3-30 284706 | A7) 1 1
3-31 284704 | 7YY 1 1 5.1X14X1.2
3-32 285220 | 241 1 1 M5X10
3-33 287870 | 77vhnN-TtU7") C 1 1 34 ~ 36 794
3-34 287641 | 77vhin— 1 1
3-35 280314 | #79FN 343077 —h 1 1
3-36 014210 | C H'4k47 1 1 S10
3-37 269831 | FA" 3%y (HWSW 4 4 M5X20WSW
3-38 287647 | 4vv3y 1 1
3-39 282403 | AYE VRV (+) 1 1 M4X14
3-40 280477 | A4Ya 1 1 M5X28WSW
3-41 269423 | Yho+b 1 1 M5
3-42 288660 | ¥/ #h7tU77Y 1 1 43 ~ 51 794
3-43 287900 | A—4 1 1
3-44 288197 | 497 =993Va{WT €7 1 1 45 ~ 51 794
3-45 281706 | 14l 1 1




3. BK235RS, BK235RSL TPy
DS —R, DYUE . aAdI)L

ARB|AZE|AzE

3 h
| N |
A |20 e,




A:BK235RS, B:BK235RSL

*

RHES (HaEs 2B A‘MB i mx
3-46 283732 | 1-F7tU7) 1 1 47 ~ 49 794
3-47 283733 | 1-I 1 1
3-48 261075 | 7V4 1 1
3-49 261074 | 7°39°%%v7° 1 1
3-50 261072 | ¥¥v7° 1 1
3-51 280080 | ¥1-7° 1 1
3-52 261076 | nUF Y- 1 1
3-53 284703 | Y¥7h 1 1
3-54 280381 | A~ 2 2
3-55 261256 | 6 H97FY+H b WSW 2 2 M4X25
3-56 286739 | AN=97°35 1 1 CJ6Y
3-57 263804 | -} 1 1
3-58 282880 | !)—F 1 1
3-59 280670 | #'OAYh 1 1
3-60 264588 | 477 1 1
3-61 269705 | AL 1 1 VPR L VEY)
3-62 563151 | 2491 1 1 M6X15
3-63 261878 | Vb 1 1




IOV

4. BK235RS, BK235RSL
JaA JLRARA—A




A:BK235RS, B:BK235RSL

*

RHES (HaEs 2B A‘MB i mx
41 287864 | JA{WAE-4T1EU7) 1 1 2 ~12794
4-2 287649 | R4—4T7+1v77) 1 1 3~ 11794
4-3 283504 | Y- 1 1
4-4 283505 | AL7L—b 1 1
4-5 283506 | A UNAI YUY 1 1
4-6 283507 | ANATNART YUY 1 1
4-7 267213 | £YbRYY)2 1 1
4-8 288169 | O—77tY7") 1 1 9~ 11794
4-9 283509 | A4—40-7° 1 1
4-10 287651 | A4—4)7 1 1
4-11 283511 | A=7"AkYn 1 1
4-12 280934 | 7°-Y7tU77) 1 1
4-13 265724 | 241 4 4 M4X25WSW
4-14 246344 | VAN 1 1 BK235RS

-10 -




5. BK235RS, BK235RSL TPV

FyILE, ITT70)—F. BHEVY

A

-11 -



A:BK235RS, B:BK235RSL

*

RHES (HaEs 2B A‘MB i mx
5-1 287865 | ¥¥7°LATHEU7Y) 1 1 2~ 15794
5-2 263739 | KVIHTA 1 1
5-3 262991 | N=V'K'F( 1 1
5-4 262992 | ®Y7hin - 1 1
5-5 261874 | 734~ 1 1
5-6 283905 | 4 4¥77L 1 1
5-7 262993 | i"AHb 1 1
5-8 262994 | #4¥77L4 1 1
5-9 282576 | h' ARG Yk 1 1
5-10 288187 | ¥'IYh 1 1

-11 261871 | O vy’ 1 1
-12 261876 | U7 1 1
5-13 261658 | A4A'IL 1 1
5-14 264682 | 241 2 2
5-15 262996 | 241 4 4
5-16 288141 | I A Yh 1 1
5-17 264691 | O vy’ 1 1
5-18 279013 | 9)=+7+1v7 1 1 19 ~ 21 794
5-19 278761 | 9)—thin— 1 1
5-20 265576 | T—A7tU7") 1 1
5-21 264695 | ILAvh 1 1
5-22 269834 | FA12Y (H)WSW 2 2 M5X60WSW
5-23 274662 | 39Tt U7) 1 1 24 ~ 34 791
5-24 287646 | 71-IL4Y% 1 1
5-25 275306 | AU9%¥V7TEUT7) 1 1 26 791
5-26 274875 | Ny 1 1
5-27 261696 | 7°Y)—Y%'934T 1 1
5-28 265752 | 2V)3AYNATTEYTY 1 1 29 ~ 34794
5-29 264031 | N47934T 1 1 30 ~ 32 794
5-30 261115 | 5’049 1 1
5-31 261690 | #vY)3AYNA7 1 1 160L
5-32 263038 | A—n'70-N47° 1 1
5-33 264653 | 7447 €V77) 1 1
5-34 261117 | Y97’ 1 1
5-35 269828 | FAIRY (MW 2 2 M5X16W
5-36 281208 | FA 3%y (W 1 1 M5X16W *9%
5-37 281007 | A1 1 1 FA-9 4 _~1

-12 -




6. BK235RS, BK235RSL
/&

-13-



A:BK235RS, B:BK235RSL

-
BHES BRES 22 A‘MB i e

6-1 221460 | H3' A% 1 1

6-2 220534 | hnhn'— 1 1

6-3 210418 | AVE'RYIAANT 1 1

6-4 219431 | 6 h9R IANT 1 1 ZAYNN 3

6-5 022865 | YADYFANT 1 1 8X10

6-6 241865 | MJ7YhM1tY 433 1 1 BK235RS/235RSL

-14 -



AKX
EsEHERRO
Ly FE—- b 42— EE 0120-898-114
ZFIFARER: AN9:00~PM5:00(t+. H.#1B %k <)

Printed in japan 2019-08.J

EHENEETY



